FLOATING SHELF
INSTALLATION INSTRUCTIONS

CenterPointe

Add functional style to any space with the unique look of real wood
CenterPointe floating shelves help you create a functional and beautiful display space in your home

IMPORTANT INFORMATION

e ANOTICE: READ AND FOLLOW THE INSTALLATION
INSTRUCTIONS BEFORE INSTALLING THIS PRODUCT. FAILURE
TO FOLLOW THE INSTRUCTIONS CAN RESULT IN DAMAGE,
SERIOUS INJURY, OR DEATH AND WILL VOID THE WARRANTY.

e CAUTION: The maximum shelf capacity when properly
installed into wood wall studs:
- 25 lbs for 2 ft shelf - 50 Ibs for 4 ft shelf

e For indoor installation only.
¢ Do not install shelf into metal wall studs.

¢ To clean your CenterPointe shelf, simply wipe clean with
a damp cloth. Do not utilize abrasive cleaners or cleaning
tools. Always test cleaning products in an inconspicuous
area first.

WHAT'S INCLUDED: CenterPointe

WHAT’'S INCLUDED - 2 FT SHELF:

(6) 2.4 in mounting screws

(1) 2 ft mounting bracket

|

(3) 1 1/4 in finishing screws

&

(1)2ftx91/2in x 1 1/2 in shelf

(7) wall anchors

(D

(7) 1.6 in anchor screws

e

WHAT’'S INCLUDED - 4 FT SHELF:

(8) 2.4 in mounting screws

(1) 4 ft mounting bracket

(4) 1 1/4 in finishing screws

&

(1)4ftx91/2in x 1 1/2 in shelf

(6) Wall anchors
O ——===rb

(6) 1.6 in anchor screws

WHAT’S INCLUDED - 3-PACK:

(16) 2.4 in mounting screws

(2) 2 ft mounting brackets

L1

(1) 4 ft mounting bracket

| I —

(8) 1 1/4 in finishing screws

&

(2)2ftx91/2in x 1 1/2 in shelves

(16) Wall anchors
M ——==rb

(16) 1.6 in anchor screws

s




TOOLS REQUIRED:

CenterPointe

ﬁ ‘ / | (o ®© o) (O] @ ‘ /@ /%E | /
Hammer Pencil 4 ft Level Measuring Stud Multi-bit 1/4 in
Tape Finder Screwdriver or Drill Drill Bit

STEP 1: LOCATE & MARK WALL STUDS

CenterPointe

2 ft mounting bracket

4 ft mounting bracket

' 16 Inches ' ' 16 Inches ' 16 Inches !
14 on Center > 14 on Center > ¢ on Center >
Stud Holes Stud Holes Stud Holes Stud Holes Stud Holes
A4 A4 4 A4 4
. g @® o O o @ g o g ® © . D.o o o @ g
4 4 4 4 4 4 4 4 4

Wall Anchor Holes

To properly and safely install your CenterPointe
Floating Shelf, it is imperative to attach your shelf
to the wall studs. Using your stud-finder, locate the
wall studs and lightly mark their location on the wall
with a pencil (Figure 1-1). Then remove the mounting
bracket from the shelf. Test fit the bracket to the wall
making sure to align the double screw holes with the
stud locations you marked on the wall (Figure 1-2).

2 ft mounting bracket

Wall Anchor Holes

Use the level to ensure the bracket is level (Figure
1-3). Finally, mark the single screw locations with a
pencil (Figure 1-4).

4 ft mounting bracket

. Figure 1-1 ' . Figure 1-1 ' .

O é ® o O o @ é:’ . :g ® o . D.:O . o @ CD:

i Figure 1-2 1 i Figure 1-2 1 1

. Figure 1-3 . . Figure 1-3 | .

) e ) ' Co e 2) '

O g ® o O o @ g . g ® © . D.O o o @ g
Figure 1-4 Figure 1-4

¥



STEP 2: ATTACH BRACKET TO WALL CenterPointe

4 ft mounting bracket

2 ft mounting bracket

Figure 2-1 Figure 2-1

ONORIORONO.

e

Figure 2-3

@ : :

5 oo

Figure 2-3
@( [0) S 2 ) @

Figure 2-4

(e

Locate the single (anchor) hole marks on the wall. Using a drill and 1/4
in drill bit, pre-drill a hole for the wall anchors. Insert the wall anchors
into the pre-drilled holes by lightly tapping into place using a hammer.
(Figure 2-1). Make sure that the lip of the anchor is flush with the wall
and that it doesn’t penetrate beyond the surface (Figure 2-2).

Place the bracket on the wall, locate the 2.4 in mounting screws, and screw
and them into the (double hole marks) studs (Figure 2-3). Next, locate the
1.6 in anchor screws, and screw them into the wall anchors, making sure
the bracket remains level throughout the process (Figure 2-4).

AN 2 )

)

ONORORBNONONO

Ena

Figure 2-2
CORRECT

S

Wall anchor flush
with drywall

INCORRECT

Wall anchor penetrates
into surface of drywall

STEP 3: SLIDE SHELF ON BRACKET AND SECURE IN PLACE CenterPointe

Align the mounting bracket with the pre-drilled holes on the back side of the shelf and slide into place. Locate the
1 1/4 in finishing screws and using a drill or multi-bit screwdriver, screw them into the pre-drilled holes on the face of

the shelf (Figure 3-1). Repeat the process if necessary.

Figure 3-1

ut-u

2 ft mounting bracket and shelf

Zzzz>

| é é

4 ft mounting bracket and shelf

,\ .

 J

é

Zzzz>







INSTRUCTIONS D’INSTALLATION
TABLETTE FLOTTANTE

CenterPointe

Ajoutez style et fonctionnalité a n‘importe quel espace grace a I'aspect unique du bois véritable
Les tablettes flottantes CenterPointe vous aident a créer un espace de rangement fonctionnel et esthétique dans votre espace

INFORMATION IMPORTANTE

° A MISE EN GARDE : LIRE ET SUIVRE ATTENTIVEMENT ¢ Concue pour une installation a I'intérieur seulement.
LESINSTRUCTIONS D'INSTALLATION AVANT D’INSTALLER
CE PRODUIT. LE NON-RESPECT DES INSTRUCTIONS PEUT
CAUSER DES DOMMAGES, DES BLESSURES GRAVES OU ° Pour nettoyer votre tablette flottante CenterPointe, essuyez-la

LA MORT, ET ANNULER LA GARANTIE. simplement avec un chiffon humide. Ne pas utiliser de nettoyants
abrasifs ni d’outils ou d'accessoires de nettoyage. Toujours tester

les produits de nettoyage sur une zone peu visible.

e Ne pas installer la tablette dans des montants en métal.

e ATTENTION : La capacité maximale de la tablette lorsqu’elle est
correctement installée dans les montants de cloison en bois :

- 11,34 kg pour la tablette 60,96 cm
- 22,68 kg pour la tablette 1,22 m

CONTENU : CenterPointe

CONTENU - TABLETTE 60,96 CM :

(6) Vis de montage 59,9 mm (3) Vis de finition 31,7 mm (7) Ancrages muraux
& 0O —==b

(1) Support de montage 60,96 cm (1) Tablette 60,96 cm x 24,13 cm x 3,81 cm  (7) Vis pour ancrage 39,8 mm

L1 -

CONTENU - TABLETTE 1,22 M : (6) Ancrages muraux

(8) Vis de montage 59,9 mm (4) Vis de finition 31,7 mm M ——==5
@ (6) Vis pour ancrage 39,8 mm

(1) Support de montage 1,22 m (1) Tablette 1,22 m x 24,13 cm x 3,81 cm @

| I —

CONTENU - ENSEMBLE DE 3 TABLETTES :

(16) Vis de montage 59,9 mm (8) Vis de finition 31,7 mm (16) Ancrages muraux

& IR E———

(2) Supports montage 60,96 cm (2) Tablettes 60,96 cm x 24,13 cm x 3,81 cm

L1

(1) Support de montage 1,22 m (1) Tablette 1,22 m x 24,13 cm x 3,81 ¢

| I —

(16) Vis pour ancrage 39,8 mm




OUTILS REQUIS :

CenterPointe

ﬁ‘/l(oe@)

-

Niveau de
1,22 m

Marteau

ETAPE 1 : LOCALISEZ ET MARQUEZ LES MONTANTS DE CLOISON

Ruban a
mesurer

Tournevis a
embouts multiples
ou perceuse

Détecteur de
montants

Foret
6,4 mm

CenterPointe

Support de montage 60,96 cm

Support de montage 1,22 m

! 40,64 cm ! ! 40,64 cm a & 40,64 cm !
¢ d’espacement 4 ¢ d’espacement 4 d’espacement >
Trous pour montant Trous pour montant Trous pour montant Trous pour montant Trous pour montant
v v v v v
. g @® o O o @ g o g ® © . D.o o o @ g
4 4 4 4 4 4 4 4 4

Trous pour ancrages muraux

Pour installer correctement et en toute sécurité votre
tablette flottante CenterPointe, il est essentiel de
fixer cette derniére aux montants de cloison. A
I'aide de votre détecteur de montants, localisez les
montants de cloison et marquez légérement leur
emplacement sur le mur avec un crayon (Figure 1-1).
Ensuite, retirez le support de montage de la tablette.
Testez I'ajustement du support sur le mur en vous

Support de montage 60,96 cm

Trous pour ancrages muraux

assurant d'aligner les trous de vis doubles avec les
emplacements des montants que vous avez marqués
sur le mur (Figure 1-2). Utilisez le niveau pour vous
assurer que le support est a niveau (Figure 1-3). Enfin,
marquez les emplacements des vis uniques avec un
crayon (Figure 1-4).

Support de montage 1,22 m

. Figure 1-1 . Figure 1-1 , .

o O ® o [ ) é: . o ® © D.IO o o @ CD:

1 Flgure 1-2 1 i Figure 1-2 1 1

. Figure 1-3 . . Figure 1-3 | .

) S ) ; (o 5] 2 ) :

O g ® o O o @ g . g ® © . D.O o o @ g
Figure 1-4 Figure 1-4

50 —0—0"

—
)




ETAPE 2 : FIXEZ LE SUPPORT AU MUR CenterPointe

Support de montage 60,96 cm

Figure 2-1

ONORIORONO.

Figure 2-1

e

Figure 2-3

@ : :

Figure 2-4

Figure 2-3
@( [0) S 2 ) @

%
S

Repérez les marques des trous uniques (ancrages) sur le mur. A l'aide
d'une perceuse et d'un foret de 6,4 mm, pré-percez un trou pour les
ancrages muraux. Insérez les ancrages dans les trous pré-percés en les
tapotant Iégerement avec un marteau (Figure 2-1). Assurez-vous que
le bord de I'ancrage affleure la cloison et qu'il ne traverse pas au-dela
de la surface (Figure 2-2). Placez le support sur le mur, localisez les vis
de montage de 59,9 mm et vissez-les dans les montants (marques de
trous doubles) (Figure 2-3). Ensuite, localisez les vis pour ancrage 39,8
mm, et vissez-les dans les ancrages muraux, en veillant a ce que le
support reste de niveau tout au long du processus (Figure 2-4).

Support de montage 1,22 m

ONORORBNONONO

Ena

(O AN 2 )

U B

o0 _ONN 0 0

Figure 2-2
CORRECT INCORRECT

D,

Ancrage mural qui Ancrage mural qui traverse
affleure la cloison la surface de la cloison

ETAPE 3 : GLISSEZ LA TABLETTE SUR LE SUPPORT ET FIXEZ-LA EN PLACE CenterPointe

Alignez le support de montage avec les trous pré-percés a I'arriére de la tablette et glissez-le en place. Localisez les
vis de finition de 28 mm et, a I'aide d’une perceuse ou d’un tournevis a embouts multiples, vissez-les dans les trous
pré-percés sur le devant de la tablette (Figure 3-1). Répétez le processus si nécessaire.

Figure 3-1

ut-u

Tablette et support de montage 60,96 cm

|

Tablette et support de montage 1,22 m






CenterPointe

INSTRUCCIONES DE INSTALACION
DE ESTANTE FLOTANTE

Agregue estilo funcional a cualquier espacio con el aspecto tnico de la madera real
Los estantes flotantes de CentrePointe le ayudan a crear un espacio de exhibiciéon funcional y hermoso en su hogar

e AVISO: Leay siga las instrucciones de instalacién antes
de instalar este producto. No seguir las instrucciones
puede provocar dafios, lesiones graves o la muerte y
anulara la garantia.

e PRECAUCION: La capacidad maxima de los estantes
cuando se instalan correctamente en montantes de madera
de la pared:

- 25 libras por estante de 2 pies =50 libras por estante de 4 pies

INFORMACION IMPORTANTE

e So6lo para instalacion en interiores.
e No instale el estante en montantes metalicos de la pared.

e Para limpiar su estante flotante CenterPointe, simplemente
limpielo con un pafo humedo. No utilice limpiadores
abrasivos ni herramientas de limpieza. Pruebe siempre
primero los productos de limpieza en un area discreta.

QUE ESTA INCLUIDO:

CenterPointe

QUE ESTA INCLUIDO - PAQUETE DE 2:

(6) Tornillos de montaje de 2.4 pulg
&

(1) Soportes de montaje de 2 pies

|

(4) Tornillos de acabado de 1 1/4 pulg

f oo

(1) Estantes de 2 pies x 9 1/2 pulg x 1 1/2 pulg

(6) Anclajes de pared
IR

(7) Tornillos de anclaje de 1.6 pulg

e

QUE ESTA INCLUIDO - PAQUETE DE 4:

(8) Tornillos de montaje de 2.4 pulg
®

(1) Soporte de montaje de 4 pies

1 |

(4) Tornillos de acabado de 1 1/4 pulg

SN

(1) Estante de 4 pies x 9 1/2 pulg x 1

(6) Anclajes de pared

M) —===b
(6) Tornillos de anclaje de 1.6 pulg

1/2 pul

QUE ESTA INCLUIDO - PAQUETE DE 3:

(16) Tornillos de montaje de 2.4 pulg
®

(2) Soportes de montaje de 2 pies

L1

(1) Soporte de montaje de 4 pies

(8) Tornillos de acabado de 1 1/4 pulg

@)L‘\‘\\\\\\

(2) Estantes de 2 pies x 9 1/2 pulg x 1 1/2 pulg

(16) Anclajes de pared
I

(16) Tornillos de anclaje de 1.6 pulg




HERRAMIENTAS REQUERIDAS:

CenterPointe

o| (8] /&7 [/

PASO 1: UBICAR Y MARCAR EL POSTE EN LA PARED

Metrica

Cinta Destornillador de
multiples puntas

O Taladro

Buscador
de Postes

Broca
1/4 pulg

CenterPointe

Soporte de montaje de 24 in

Soporte de montaje de 48 in

1 16 pulg 1 1 16 pulg 1 16 pulg 1
:‘— en centro —’: :‘— en centro ::4 en centro —’:
Agujero del poste Agujero del poste Agujero del poste Agujero del poste Agujero del poste
v v v v v
. g @® o O o @ g o g ® © . D.o o o @ g
4 4 4 4 4 4 4 4 4

Agujero de anclaje de la pared

Para instalar de forma adecuada y segura su estante
flotante CenterPointe, es imperativo fijarlo a los
montantes de la pared. Usando su buscador de
vigas, ubique los montantes de la pared y marque
ligeramente su ubicacién en la pared con un lapiz
(Figura 1-1). Luego retire el soporte de montaje del
estante. Pruebe el ajuste del soporte en la pared
asegurandose de alinear los orificios para los tornillos

Soportes de montaje de 2 pies

Agujero de anclaje de la pared

con las ubicaciones de los montantes que marcé en la
pared (Figura 1-2). Utilice el nivel para asegurarse de
que el soporte esté nivelado (Figura 1-3). Finalmente,
marque las ubicaciones de los tornillos del soporte
con un lapiz (Figura 1-4).

Soporte de montaje de 4 pies

. Figura 1-1 ' . Figura 1-1 ' .

O é ® o O o @ é:’ . :g ® o . D.:O . o @ CD:)

i Figura 1-2 1 i Figura 1-2 1 1

. Figura 1-3 . . Figura 1-3 | .

) e ) ' Co e 2) '

O g ® o O o @ g . g ® © . D.O o o @ g
Figura 1-4 Figura 1-4

¥



PASO 2: INSTALAR EL SOPORTE A LA PARED CenterPointe

Soportes de montaje de 2 pies Soporte de montaje de 4 pies

Figura 2-1 Figura 2-1

ONORIORONO. ONORORBNONONO

s e p

Figura 2-3 Figura 2-3

AN 2 )

Figura 2-4 Figura 2-4

)

o@.(o‘“’ g @1.@0 (Om —

-6 00 _ONN O 0 ___ 0 0

Ubique las marcas de agujeros simples (de enclaje) en la pared. Usando
un taladro y una broca (1/4"), pre-taladre un agujero para los anclajes
de pared. Inserte los anclajes de pared en los agujeros preperforados
golpeando ligeramente en su lugar con un martillo. (Figura 2-1).
Asegurese de que el borde del anclaje esté alineado con la pared y
que no penetre mas alla de la superficie (Figura 2-2).

Coloque el soporte en la pared, ubique los 2 en los tornillos de montaje
y atorninelos en los pernos (marcas de doble agujero). Luego, ubique
los tornillos de anclaje de 1.5 pulgadas y atornilelos a los anclajes de

Figura 2-2
CORRECTO

Sy

Soporte de pared a nivel
con paneles de yeso

INCORRECTO

El ancla de pared penetra la
superficie de paneles de yeso

pared (Figura 2-3), asegurese de que el soporte permanezca nivelado
durante todo el proceso (Figura 2-4)

PASO 3: INSTALAR Y ASEGURAR EL ESTANTE EN SU LUGAR

CenterPointe

Alinee el soporte de montaje con los orificios previamente perforados en la parte posterior del estante y deslicelo
en su lugar. Ubique los tornillos de acabado de 1 1/8 pulgadas y, con un taladro, atornillelos en los orificios

previamente perforados en la cara del estante (Figura 3-1). Repita el proceso si es necesario.

Figura 3-1
Soporte de montaje de 2 pies Soporte de montaje de 4 pies
| J |

4 4 4

@




WARRANTY
All CenterPointe products are backed by a 90-day limited warranty.
To view warranty details, visit our website.

CUSTOMER SERVICE
Our customer service team is available to help you.
For assistance or information about the product,
please call our toll-free number.

GARANTIE
Tous les produits CenterPointe sont couverts par une garantie limitée de
90 jours. Pour consulter les détails de la garantie, visitez notre site web.

SERVICE A LA CLIENTELE
Notre équipe du service a la clientéle est disponible pour vous aider.
Pour toute question ou assistance concernant ce produit,
veuillez appeler notre numéro sans frais.

GARANTIA
Todos los productos CenterPointe estan respaldados
por una garantia limitada de 90 dias.

SERVICIO AL CLIENTE
Nuestro equipo de atencién al cliente estd disponible para ayudarle.
Para asistencia o informacién sobre el producto,
por favor llame a nuestro ndmero gratuito.

%CenterPointe@ ‘ CenterPointe

VT Industries, Inc. Belanger Laminates

1000 Industrial Park 1435 Joliot-Curie

Holstein, IA 51025 Boucherville, Quebec J4B 7M4
888.287.8356 800.361.5976
vtindustries.com belanger-laminates.com

10



